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QUESTION 1

You want to move an Exadata Cloud@Customer VM cluster to a different OCI compartment for increased isolation from
other teams that use Exadata. What happens when you use the console to do this? 

A. The VM cluster and associated databases will move to the new compartment. All other resources will remain in the
existing compartment. 

B. After it is deployed, a VM cluster cannot change compartments. 

C. The vm cluster, compute nodes, and associated databases willmove compartments. All other resources will remain in
the existing compartment. 

D. The vM cluster, compute nodes, and underlying Exadata infrastructure will move to the new compartment. All other
resources remain the same. 

Correct Answer: C 

 

QUESTION 2

Your company\\'s security policy requires you to patch the database within a month of a relevant database patch being
released by Oracle.Which method requires the least amount of down time? 

A. Download the latest patch from MOS, back up your database, run a precheck, then apply the patch on the database
home. 

B. Own two Oracle Homes (OH193_A and OH193_B), each with a test database (193A and193B respectively). 

C. Back up your database, run a precheck, then apply the patch on the database home where the database resides. 

D. Download the latest patch from MOS, back up your database, and use dbaasc1i to apply the patch on the database
home. 

E. Create a new database home, patch it to the version you want, and then move the database to the new home. 

Correct Answer: E 

 

QUESTION 3

Which two circumstances are FALSE when you use the Console to recover a DB systemdatabase from a backup stored
in Oracle Cloud Infrastructure Object Storage? (Choose all correct answers) 

A. The pp system has no access to the Oracle Cloud Infrastructure Object Storage service location where the backup is
stored. 

B. You want to restore to an existing System Change Number (SCN). 

C. Data Guard must be disabled, or you must first remove the Data Guard association by terminating the standby
database before you can restore the database. 

D. Restore the database from an unmanaged backup in Object Storage created directly by using RMAN. 
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E. Restore the database from a backup in Object Storage that was created by using the Console or the API. 

Correct Answer: AD 

 

QUESTION 4

How many DB systems must you provision before you can enable Oracle Data Guard for a virtual machine DB system
database? 

A. It depends on how many standby databases you want for your primary database in the Oracle Data Guard
configuration in Oracle Cloud Infrastructure. 

B. Three, first for the primary database, second for the standby database, and a third for the staging database in the
Oracle Data Guard configuration. 

C. Two for both the primary and standby database, because a DB system with the database that you want to use as the
standby must already exist before you enable Oracle Data Guard. 

D. One with the primary database, because a new DB system with the standby database is created and associated with
the primary database when you enable Oracle Data Guard. 

Correct Answer: D 

 

QUESTION 5

The /u02 directory containing Oracle Homes (OH) is 80% utilized and you need to free up space in it. you own two
Oracle Homes (OH193_A and OH193_B), each with a test database (193A and 193B respectively).You decide to
consolidate both databases into a single Oracle Home (OH193. |_A) to free up space. Which TWO actions must you
perform? (Choose all correct answers) 

A. use the Move Database option from the console. 

B. Schedule a downtime window with the Test teams whouse the 193B database. 

C. Copy the sqinet.ora file from OH193_B to OH193_A. 

D. Create a new container under 0H193B and migrate the pluggable databases (PDBs) from 193B to 193A. 

Correct Answer: AB 
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